i
I
iy
Tl
P=ai
i

1. ¥4
kG4 BN 7 R A K B A 37
JEAT ST T R T A e A s S [RI TR SEBR X =40 —Hio

2. EHEAR

1) FEA 5 T S BT AR
2) JEATHIR 242 HIH B &f 74 48 1H

E S THE11H28H

3) PN

4) EBNE

- Etzz@y  AbkEt 5w R



*ﬁ
P

Vavar

b

N

Tl
>

=
=

EBL | DT EERE) K B R R B YR AR A
H H — AR
THH - TR - R H AL % & 4 %A O ER
— A =X 1 19, 519, 684
[ERETITEE =4 oy 1 17, 552, 766
W=y =7 & ! 10,287,810 | HEA—V 7 (/v ardioy
7) 132 m
et - 2o b, BOmEL TR, SR E T, ¢
86mm
TER=V T rari—1 v
7)) 9 m
- WE L, 50mBA T, $A1E. T /7, ¢ 86mm
TER=V T rari—1 v
7)) 9 m
R U Y 4, 50mEL T, $R1E. T 57, ¢ 86
mm
TER—V 7 F—nar7r—1
) 450 m
FEMEL « oL b, BOmEE~80mEL T, SR
T7, ¢ 66mn
+ER—V T (F—naTrR—V
7 9 m
Wy - WY 1, 50mEE~80mLA T, $RiE. N )5
, ¢ 66mm
TER—=V 7 (F—arTr—V
7 9 m
R TV 40, 50miB~80mLL T, $niE
75, ¢ 66mm
VN AN/ X 1 245,700 | BEEL AbRY -7 5
9 EN
YT 7 R OURALE FRER 2V 1 5,498, 100 | #EYEE AGER
450 ]
BEPEL - L B

=R oS KN o723 S



i
S
St
g%

=
=

EBL | BT EERA )UK B R ¥ M R A
H H — &R
THH - TR - FE5l LA # & A BN RR
ER PN
9 =]
e et
HEUEE A GABR
9 [=]
BEIR TV L
Bl451%5 /KRB
18 ]
=7k
ENE AR X 1,111,950 | ARt RERER
9 ok
T DV B R R
9 ok
T DE KR
9 ok
T %r AR
9 Bk
LR AT
- okr AR
9 Bk
5DV
T DR IEBR SR
9 Bk
T OMBIERR SRR
9 Bk
T DER AR
9 Bk
T Z LR R
9 Bk
AT 2 218,176 | fEHTH A
1 K
TR 2 191,000 | & -F-plk i fERE
-2 - HERma Akt R



= SR 2
B RS
EW4 | BT EERR ) HOK K E TR E ER A
H H — A
TEHA - LfE - R =AY VA # & A Wl B N R
1 =
BiEE RO ¢ =X 1, 966, 918
Hefif = 410, 020 | HE{ & O 1)
1 =
A FLEAZE
1 =
18f4
IE% = 1,058, 400 | B3R
1 =
9 F
ik A I = 375,629 | ikt (EEtE - EIAE)
1 =
it T PR oy 122,869 | fi T PR
1 =
A 4 A = 19, 519, 684
ik = 12, 290, 316
At =X 12, 290, 316
— TR = 31, 810, 000
MEHT A = 911, 682
[EREE 3% = 911, 682
AT A = 911, 682 | fiFAT R4
1 =
Iim = 299, 600
pisii] = 299, 600

737

=R oS KN o723 S



EW4 | BT EERR ) HOK K E TR E ER A
H H i@
TEHA - LfE - R ==V # & A Mo 3
e =X 299, 600 | ¥TAHE
1 =
EEFAM (2 OMFEMmER <) = 1,211, 282
& DAt AT = 652, 275
— i B = 996, 443
FRNT SR R = 2, 860, 000
TR S M = 34, 670, 000
Iim = 135, 420
il GREFED) = 135, 420
N BRI ERCR ShPERK =X 135, 420 | Z\BHRKF SRR
1 ESE
ERREM (2 OtFEMER<) =X 135, 420
Z O FA =X 72,923
— RS L = 111, 657
e S =X 320, 000
e S =X 34, 990, 000

=R oS KN o723 S



